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| HALA =Y
002 9% L =0l2H ¥3H| X|Z 92 4,897
98 =0y SAH| X|Z 92 182
98 DAE DAY YAKXt ZHAH| X5 210
92 BIXIESA|Y 2¥H| X2 20,494
9% DXIESA|M MAZO X2 4,988
98 EFEFAIE ES0AL Q1AHH| X5 31,000
9 FEY 2YH| X|= 22,950
98 BANXIY SESAIY | X5 10,171
98 DIZHMEE|AIE E] LA SXE KT 57,950
9% O0| S O|X| Y ALAH| X|= 20,000
98 FOtERER0| 4F X5 2/F 975
108 E5& &3 Y= 3,314,800
9 E HEXY EAIHE SAK 21 AH| X5 401,573
98 RYRSXAE 2GH| X|= 13,438
98 DIZHMEE|AIE E] LA SX|5Y FIt X 400
427| OFSEX| A} Q14| X|2 37,722
Ol EHet Hits B g Xt X5 6,209
9UE HAQUAM QUH HEXZ2 X2 134,065
9HE QUMY WAL ExF X5 26,652
108 5974 A 3,939,345
4/427| RErIRLE2EME) 23| X 2,500
H21%| ARl deH Sz BARIERF K= 15,933
108 TUH d2HSX =Xt HiX2SEEF X 7,037
108 O 24 WM S| A HiX| Y BEx g X|& 1,758
H21%| ARl deHSie BARIERF K= -189
427 FEFEAM SR HY|7 KT 900
AL =X 2 7= X SAMIE 28| X 91,351
427 STAUCHOIIIE X MASUHXY S8 2FH| X5 6,000
427 ST UCHOIIE CHX|LY ALR| =X Z 203 2P| X| & 15,000
A27| AFS|EX|TH 29H| X|2 403,074
118 & XHASAMIE 23| X|& 5,000
1082 HEd s elAd| X|& 1,400
10212 AC|Y0lE QI AH| XY 2,539
44827 =olmA 2YH| X2 4,800
4/427| HOfZ2EHE 2H| X|= 3,750
108 X|YOL=ME 29H| X|2 40,430
103 OtO| == 0| X| | AtH| X|= 30,507
27| QEBOIE ZEMSIIN X2 X2 9,679
27| Zojel =X S5 2| X5 5,000




<l
=

10

HALA =Y

427 FOYQI 7t ESA|N 2¥ BHX 2 X2 15,085

27| B =X 2 EXF7 X 167,377

27| Zojel 3SHEIY Y BEXxF K& 52,920
6 32 0& 3 Ua -46
HojelsX| 2 7|5 /W HALH| X5 5,000
427| 2LUAMSIAILIOZE 28 ExF A& 31,680
K| HALR| MH| AF XA O EFF(CAL 5 -47,168
27| =AM E FAK SX|+=F X5 38,439
10Y ZA2% 29H| X2 22,800
4/48 7| R7H QI 2X|A|E LHH| X2 32,500
4/42 7] M7t QI EXAE HASX =Y X 2,700
108 otsLsAIE dA=0 X= 16,769
109 L =XtalE 2AH| X2 9|2 150
10Y OIS U A|M 2%H| x|2 67,115
102 OFEQUSA|M AXMSAAIQH| X2 3,864
109 =014l B3H| X2 2|& 4,723
108 FEAEX|AE 23H| X|Z 9|g| 48,541
108 ZXESAlY YKt ZHAH| X5 235
108 X2 Al MAZ0 X2 6,606
10¥ BXIES AN 29H| X2 16,323
4/427] o ZHYEL SAX SX = X 450
4/427] Ol 58 d A 2EH| X 7,451
108 L E5TLAHIA OE g E5 19,325
108 T EET|EMHAAY EX2 X2 10,747
118 258 OEf g 23 2,040,480
108 BAMAXE SE|AIE Q| X5 2| 10171
108 YotE8 =20 242 X2 9|3 500
4427 SEESAYE T7|23 X SALLHE $27| &2H X 798
4/427] BEX Y ESAE ANF2EH| X5 1,500
1082 YR ESA|E SAA Q| X5 404,008
108 E|mAt 2X|4L x| 2 60,700
108 ExESAE AR 21 AH| X5 29,000
112 & X 9xtgdy 2G| X5 32,538
44827 ARG Z2 BB Xt X2 X2 4,950
WEESAY vEstE 3 ZaFAA| X[ H (2%} 1,400
58 ESE O8= 28 -4,581
4/42 7| MSIFHL7PERIRME 2EH| X5 30,000
1082 uadAd 234 X= 121,402
108 & AN AL X 36,425
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| HALA =Y
119 487 &7 3,591,690
WSEXFXSMX G X JAALLH| X|=(%AHE) -1,788
dolEsius X HAAY EXF X[=(2%h) -815
119 MEHHSX|CAF HiX| 2¥R X2 X2 9|2 8,795
WEEX| FX2MX| Y K| AALH| X|= 180
109 goI2sind ZALR S XtASAR nEH X2 815
27| At2|F X2 2H| X -49,174
A =X 2 7= X SAMIE 28| X -23,000
118& JEdgsia 1| X 1,400
118 & XSA ZC|H0l Qld] X[ 2,539
1283 AHASAHNE 23H| X5 6,231
58 EMO|=XAHERE OEF S5 -32,150
118 X|YOL=ME 29H| X|2 38,430
113 Ot0| == 0| X| | AtH| X 42,169
4/42 7] X|gxtgrd e 2 SX =Y X5 6,120
118 dH™x|otsdy 24| X5 481
118 Otz SA|E ATMSGAH| X2 3,803
112 otsE=sAlE dAH| X5 11,516
119 BXIESA|M MA 20 X2 5,393
112 RAIESA|Y 2QH| X|Z 17,912
118 2Xt2 Al d& 43 = 358
118 BXE A QAXE ZHAH| X 275
119 DXESA|E 1830 X2 1,933
OtSYSAIM 4/427| WSFO X= 8,933
1189|119 O}SUSA|A 29H| X2 67,048
4/42 7| QI =X|2|2 2| X|& 6,797
118 LS55 SMH[A ALY OlEfE 25 19,325
119 LOISEJ|EMHAAY BX2 X2 10,747
119 XtEE 82 gt -3,676
AN(1IER)"E2E SH7| SASE XY HHH|"X| = 41,964
3XEE)R "EEY SEY| SAEE XY " X2 41,394
118 =g 2%H XF 22,650
118 Z2Y ts| X3 19,900
118 08522 HH| X|= 900
1288 X gxtgde 5 L7|S S5 At aelxt 28| X 8214
119 Yot 20| o2 x|2 o 700
118 RLAUANXESESA|E QA X5 Q|| 10,171
119 2|4 28X+ X2 62,300
119 E2HSA|M 2 MmA O174H| 28,000
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265
15,805
120
-31,282
9,764
775
68,950
7,680
6,470
36,400
1,200
300
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335
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